
Tec A
#Equations of planes and IS, general version

Consider a plane containing (7, 9.21). (72-42-25), (7144.20)
Let the plane be attby+ cz= d.
Then sa,b, es is a recter norwal to the plane

She Preding.this normal vector helps as find

1. Get two vectors from the three pouts

Guven point (x..y., 2.) and normal
vector ñ = la, b, c>. This determines a
plane a (X-Ji) +b(y-y.)+0(2-2.)50

2. Cross them

is the equation
Higher din generalisation: normal vector + plave always work!

cross product only works in iS! Use the higher dim equivalence.

a (X-xi) + b (y-y,) +0(2-2,) =0

In p4, it would be

i.e.
then

. - J4-v,



# Lives in R$

" Can be determined by a pout and a direction vector

I two pourts• Can be determined by
Let P. Q be pointsThen vectorequation is #lt) =OP + PQt

move whatever a vectos on
to P that live

Ex. P= (4, -1,2) , Q= (3, -1,-1)
#(t)= 14, -1,27 + t1-1,0, 3> is the vector equation

L Parametric form

Any ceuter point? Yes, any center pourtwould work

Question

X= 4-t
y=*
2=2-3t

Sires)
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